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Question I:
Choose the correct answer, then fill in the table above:

OIfAi Ais2: 2 x ﬂnatnx and|detA = 911‘“‘@1—-
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of the previous

(d) None

(2) If Ais a/4 X 5 matrix andB is a[‘;_’x 7 matrix then E(AQA B g3

(a) 5 X 5matrix (b) 4 X 7 matrix (¢)7 X matrnﬁ (d) None of the previous
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(3) If A and B arfe 4 X 4 matrices such thm{t—,]argd)nd\tr(SA’ -N= trB thcn trB =
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A (d) None of the previous
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(a) 23 (b) 26 (¢)28

(a) invertible (b) elementary  (c) non- invertible / (d) None of the previous
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Question 11:

(1
In parts (a)~(h) determine whether the statement i true or false, a1 jM A

nt.
(a) A linear system whose equations are all\hor omogeneous ‘must %/ >

; \\T \' o = o4
(b) The system O\ i et
X 7 ,
dx-2y=8 .. - P
is a linear system.
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(c) All eadmg 17s in a matrix in row ¢ echelon form must occur lnd|\fM'ent columns
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(2) A symmetric matrix must be a |
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B. For the following rmalrix

100
A=‘02°
0o 03

| Findp Find p(4) | wherepis) - 4 3232 N

A ()
,[O %
7, o
(@)

PN e IATAL

/“‘ O

o,
o] [4(‘
/ "O‘!

A
[ e
>, i
O ey
2

-1. BN
s L :
) = o
e @
&
S 9. O
&) @62)

et

&= |

o
o
:

:

g
A

<

[
{



